L karcz of 10 1 is required 1o hald o spring sireiched 4 in.
yond is natural lengih. How muoch work 15 done e sireich-
from its matural length to 6 in. bevond its notural length?

2 f1as & narural bengrh of 2 eme 1T a 25N force is
equiredl 10 keep it stretched 1o a lengih of 20 cm, how much
i5 pequired 10 sereecl i from 30 co to 25 cm?

sz thai 2 1 of work are needed o streich a spring from s
fength of 340 con ot a length off 42 cm. How mach work
el o stresch it from 35 cm o 20 cm?

vk requered to strelch o spring 111 beyond s walural
e is |2 fi-Ib, how much work is needed o screccl i 9 .
rpond i1= naneral length?

far bewvand §is natoral length will a foree of 30 N keep e
gm Exercase T stretched?

b of wark are peeded 1o swrerch a speing frons 10 ¢ o
Zem ind smodher 10§ are needad to stretch it from 12 em to
Hzm, what is 1he nameral lengih of te spring?
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